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	Qu
	ALGEBRAIC MANIPULATION
	(
	(

	
	I can expand two sets of brackets
	
	

	
	I can expand two sets of brackets in harder cases
	
	

	
	I can square a linear expression
	
	

	
	I can factorise a linear expression
	
	

	
	I can factorise a quadratic expression
	
	

	
	I can factorise a harder quadratic expression
	
	

	
	I can recognise and use an identity
	
	

	
	I can simplify a rational expression involving quadratics
	
	

	I need to practise …. 


Grade D: 1 mark

Grade C: 2 to 5 marks
Grade B: 6 to 20 marks
Grade A: 21 to 29 marks
Grade A*: 30 to 33 marks

Name:


ALGEBRAIC MANIPULATION: Grade A





Key descriptor: Factorise harder quadratic expressions





Score: __________/33		Grade:______
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Overall, for this homework I think my success level is: 











1.	Expand the following brackets:





a)	(x+4)(x+7)


_______________





b)	(p+6)(p-8)


_______________





c)	(3x-2y)(4x+5y)


_______________





d)	(a+b)2


_______________





e)	(2p+q)(2p-q)


_______________





2.	Factorise the following expressions:





a)	45t+20


_______________





b)	6d2-12d


_______________





c)	x2+6x+5


_______________





d)	d2-25


_______________





e)	a2-7a+10


_______________





f)	2y2-7y-15


_______________





3.	Calculate the value of 542 – 462 without using your calculator.  Show your working.  HINT:  You should not need to work out the value of 542 or 462.





_______________





4.	Simplify these fractions:





a)	� EMBED Equation.3  ���


_______________





b)	� EMBED Equation.3  ���


_______________














Grade C


2 marks





Grade B


2 marks





Grade B


3 marks





Grade B


2 marks





Grade B


2 marks











Grade D


1 mark





Grade C


2 marks





Grade B


2 marks





Grade B


2 marks





Grade B


2 marks





Grade A


3 marks











Grade A


3 marks











Grade A


3 marks








Grade A*


4 marks











Total = 





_____/33
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